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Do not write your name or put any other mark of identification anywhere in the OMR Response
Sheet. IF ANY MARK OF IDENTIFICATIONS IS DISCOVERED ANYWHERE 1N OMR
RESPONSE SHEET, the OMR sheet will be cancelled, and will not be evaluated.
This Question Booklet containg the cover page and a total of 100 Multiple Choice Questions of |
mark each,

Space for rough work has been provided a the beginning and end. Available Space on each page may
also be used for rough work.

There is negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be
deducted.

USE/POSSESSION OF ELECTRONIC GABGETS LIKE MOBILE PHONE, iPhone, iPad, pager
ETC. is strictly PROHIBITED.

pages should be torn out from this question book et

Answers must be marked in the OMR Response sheet which is provided separately. OMR Response
sheet must be handed over to the invigilator before you leave the seat

The OMR Response sheet should not be folded or wrinkled. The folded or wrinkled OMR/Response
Sheet will not be evaluated.

Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet. Any
other details, if asked for, should be written only in the space provided.

There are four options to each question marked A, B, C and D. Select one of the most appropriate
options and fill up the corresponding oval/circle in the OMR Response Sheet provided 1o you. The
correct procedure for filling up the OMR Response Sheet is mentioned below.

CORRECT METHOD

®OO®

WRONG METHODS

OX O0|0@ OO0 ECO® 000 000000




Phase contrast microscopy exploits differences in
A.  Protein content of an object

B. refractive index of different parts of an object
R lipid content of membranes in an object

D.  differential staining of various parts of cej|

Which ecological pyramid is always upright?

rJ

A. Pyramid of food B.  Pyramid of number
C.  Pyramid of biomass D.  Pyramid of energy
< Which class of enzymes catalyze removal of groups through formation of double
bond?
A Hydrolases B. [ yases
G Transferases D. Ligases
4. Besides oxygen, hemoglobin also binds to
A. Carbon monoxide B. Carbon dioxide
3-8 Nitric oxide D. All the above
S.  Which one is a non-reducing sugar?
A. sucrose B. fructose
C. ribose D. lactose

Bl .
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< Non-competitive D. Allosteric hhihu‘

Polycistronic mRNA encodes

A.  several mRNAs B.  several gences

oA several polypeptides D. homopolysaccharides

W

Identify an antifungal agent
A.  Amphotericin B B.  Tetrecyclin
54 Streptomycin D.  Rifampicin

A.  Mitochondrial DNA

B.  Chloroplast DNA

C.  Ribosomal DNA

D.  DNA sequences that code for tRNA

In earth's early atmosphere which gas was pre-dominant?

C. Argon D. Nitfogen

4]



B 2
system
A. Aldosterone

04 Epinephrine

Which of the following does not act via G-Protein
“oupled Secondary

B.

D.

W

A. Clathrin

D Connexin

B.

D.

messenger

Acetylcholine

Histamine

2. Core proteins of GAP junctions channels are:

Cadherin

Calcineurin

13.  In which technique separation is based on charge

A. Gel Electrophoresis

-

- - .'
( Photoreactivation

A. Dam Methylase

C. Exopeptidase

B. ’Amoradiogmphy

D.

B.

D.

Blotting

14. Identify enzymes that recognize and cleave specific DNA sequences

Restriction Endonuclease

DNA hydrolases

15. Level of Series-3 pgomglmdmdepends upon intake of

A. Linolenic acid

¥

G Oleic acid

51
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B.

D.

Linoleic acid

Stearic acid
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Arachidonate has 20 carbon ator ith
wi

A. 2 double bonds B 3 double bonds

<, 4 double bonds D. 8 double bonds

Wh' . -
ich of the following gives most energy per gram on oxidation?

A. Nucleotides B Fats

C. carbohydrates D. proteins

In denaturation of proteins, which bond is not broken?

A. Disulphide bond B. Peptide bond

. Hydrogen bond D.  ion-pairs

Identify four carbon monosaccharide
A. Erythrose B. Xylulose

C. Xylose D. deoxyglutose

Two sulphur containing amino acids are
A. Ser and Cys B. Thr and Ser

C. Cysand Met D. CysadThr



25.

Which one is not an intermediate of glycolytic Pathway?

A oxaloacetate B.

C. fructose 6-P D.
| Mﬂolmvm
SSF JAMIA MILLIA ISLAMIA
Which enzyme is unique to gluconeogenesis?

A.  PFK-I B. FBPase-1

& Enolase D.  Pyruvate kinase

How many CO02 are released in one pass of TCA cycle
A. 2 B.

§ 3
c 4 FB 6

Glycogenin is associated with

A. synthesis of proteins

B. synthesis of glycogen

C. Degradation of glycogen

D.  synthesis of glycerophospholipids

Which of the following is key part of ganglioside?

A. mannose B. galactose
C. sialic acid D. Lactic acid
m PR
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29.

30.

T g s
ransketolase is Ntimately associated with

¢ TCA cycle

B. HMP pathway

D. Glyoxylate cycle

Enzymes provide activation energy for reaction

Enzymes may be used Several times for a specific reaction
SSF JAMIA MILLIA ISLAMIA

Which of the following is not anexample of inbom error of metabolism?
A. Phenylketonuria B.  McArdle's disease
C.  Tuberculosis D.  Cori's disease

Pantothenic acid is part of which co-enzyme
A. Coenzyme-A B. Methylcobalamine

G Biotinyllysine D. Tetrahydrofolate

Most prolific aflatoxin producer is
A.  Aspergillus flavus Aspagiitus outeiin
C.  Aspergillus niger D A

M7SSET-C
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31.  Facultative organism is one that
A. Is killed by oxygen
Prefers to grow without oxygen

B
C.  Doesn't use oxygen but tolerates i
D

Uses oxygen when present or m.‘&obi call
| y
SSF JAMIA MILLIA ISLAMIA

32. Mitochondrial DNA is preferred for evolutionary studies because

A It is enclosed in a lipid bilayer

It is not exposed to environment

B
C.  Of maternal inheritance and lack of rym bination
D

Of lack of Y-chromosome

4 2

33.  Which force contributes most towards stabilization of native globular protein

structure?
A. H-bonds B. Hydrophobic forces
s % -7 interaction D. electrostatic attraction

34. Affinity protein tags are often appended to recombinant protein for the purpose of

A. Solubilization B. Identification

C, Purification D. Crystallization

i Entrance Examination - 2021 - 22 ‘
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38,

Whie X
Ich of the following describe; Primary structure of proteins?

A. 3-dimensi
1onal S€quence of amino acids in polypeptide
B. Native structy
¢ Of polypept
ide
&, I
Inear sequence of AMino acids in polypeptide
D.

36. a-helix and B -sheet are €xamples of

A, primary Structure of protein
B. secondary structure of protein
&

Super-secondary structure of protein

D.  domains in protein

37.  Albinism in humans is due to autosomal recessive allele. Both parents are carriers
of albino allele, what is the probability that their first child will be an albino girl.
A. 1/4 B. 3/4
C. 1/8 B 3/8

38. In phenotypic F2 score of Mendelian dihybrid cross, degree of freedom for

statistical purpose 1s

TR gy

% L5 D. 4
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with Rs 270. Originally he had:
‘A)  Rs 1125 : B) '

<) Rs 1325

40.  The di e :
he difference of two numbers is 3, and their sum i< 99. The smaller number is:
A) 45 B) 46
) 47 D) 48
% IS
41.  The average of 30 students in a class il kg. If weight of teacher is included,
e
average weight becomes 41 kg, &ﬂoﬁe&cher is:
A)  69kg B) 70kg

C) 7lkg D) 72kg

42 Equivalent discount of three successive discounts of 10%, 20% and 25% i s:

%
A) 41% B) 42%

55%
C)  46% ) :

i Entrance Examination - 2021 -
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45,

MP‘MA.BIMCMWRI

a business. If the total mmhhzw,MofA is:

A) Rsl12 B) Rs126

C) Rs 16) & D) Rs2sl
A

Smog in Indian cities mainly « . sists of

A)  Oxides of sulphur
B)  Sulphides of nitrogen
C)  Oxides of nitrogen and unbumt hydrocarbons

D)  Suspended particulate matter, ozone and carbon monoxide

46 Which state of chromium is most toxic?
A) Cr+ B) Cr#2
C) Cr+} D) Cr+6
2
MTANT

1600, Rs 1800 and Rs 2300 respectively, in

-le

0 [ pt———



47.  Which fuel source is most polluting?

A. Vegetable waste product B, B ae e
urning

C. Coal D. Firewood

48.  Benedict's test is routinely employed to detect presence of
A.  disaccharides B. polysaccharides

- Bl reducing sugars D. non-reducing sugars

49.  Alcohols heated with concentrated Sulphurie acid will yield

A. alkane B. alkene

C. ester D/ aldehyde

50.  Protein separation in Gel chromatography is dictated by
A.  relative solubility of gel and proteins
Stokes radius of solute

B
C. adherence of solute to matrix
D

sequence of loading

51. Which gas is evolved following reaction of ethylamine with sodium metal?

A oxygen B. nitrogen
C ammonia D. hydrogen
13
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S2. How

much sodium hydroxide wil be required t0 neutralize S00ml of 1.9 HCLY

G 2
20 gm D. 40 gm
53 . " 3 ~ . L)
Which of the following will most readily grab electrons?
A, carbon B. oxygen
G sodium

D. nitrogen

SSF JAMIA MILLIA ISLAMIA
54. -

Aldehydes react with hydmxylgmine ne to give

A. amino acetals B amino hydrazone

& aldoxime D.  amino hydroxide

55. Hofmann bromamide reaction may be employed to convert
A. amide into aminc
B.  primary amine into secondary amine
C. Aldehydes into alcohol
D.

alcohol into amine.

56.  What will be final molarity of the solution, if 400 ml of 1 M solution is mixed
with 600 ml of 2 M solution? ‘
A. 3.00M B. 160M
C. 200M D. 1L0OM

M75 SET - C 41 gatrance Examination - 2021 - 22
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37. In generic formula, R-Mg-X for Grigngrg
A.  any electrophilic entity B. e i
€. halogen D e i Sl
"y electropositive metal
58.  Which of the following has a zero dipole?
A.  SiF 4 BN 1 -dichlorocthylene
C. CF'J D.  cis-1, 2-dichloroethylene
SSF JAMIA HI ISLAMIA
59. A catalyst increases rate of reaction by
A.  Decreasing enthalpy of the reaction
B. Decreasing internal energy of rm’ns
€. Decreasing activation encrrf reaction
D. All the above
60. The reaction, CH;Cl + H;,0 —— NaOH -——CH-0H + HCI, is an example of.
A Substitution reaction B.  Addition reaction
c. Elimination reaction D. Rearrangement reaction
61. Number of possible geometrical isomers of CH;-CH=CH-CH=CH-CH =CH-C
are
o B. 4
& 2 8 .
0s) Entrance Examination - 2021 - 22
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63,

64.

65.

(~',{ x(‘(')(‘()()l‘l

CH;CHOI {COOH

: .COOH D.

Which :
of the followmg has chira) carbon atom?

A, CH2CI2 B (.}|(~l:

@3 CHCIBy

When light travels from air 1o Water, which of the following remains constant

A.  Intensity B. Wavelength

&8 Vclocity D Frequency

Energy equivalent to 420 joule s supplied to 10 gm of water. What will be the
rise in temperature of water?

A. 1°C B. 10° v

@& 4.2°C D. 4rC ‘

How much should the pressure be increased in order to decrease the volume of

gas by 5% at constant temperature?

A. 5% B. 10%

C. 4.26% D. 5.26%

[16]
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67. Two resistances R and 2R are Mh }
- series in an

electrical circuit
ratio of heat in R to that in 2R is: ) b
A- 2: l ‘ l.z
C. 4: l D. l:‘

W

68. Hydrolysis of triglycerides with alkalj is calleq

A.  saponification B. emulsification

C.  peroxidation D, hydrogenation

69. Coenzyme form of which vitamin is a
A) Riboflavin Thiamine
.

C)  Pantothenate /6) Biotin

5
70. Crossing over in diploid organism leads to

A)  Dominance of alleles

B)  Segregation of alleles

C)  Recombination of linked genes
D)  Epistasis

71

Which of the following will give positive Biuret Test?

A) Glycogen B) cyclic glucose
C) Albumin D)  chitin
n7n
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B) ATP

D)  All of the above

73. Which one is aromatic amino acido
A) Gly B) Trp
C) Ser D) Val

74.  Angiosperms differ from gYmnosperms in having
A)  Fruits B) cotyledon

C)  Tracheids D)  broad leaves

75.  Reflex actions in humans are fast because
,A)  Sensory neuron connect to motor neuron in spinal cord
B)  Motor neurons are absent in spinal cord

C)  Muscle responses are autonomous

D)  Brain collates visual inputs to muscle contraction

76.  One feature of collenchymas is that it is
A)  Extremely elastic B)  extremely plastic
C) Devoid of cell wall D)  devoid of isodiametric cells

[18]
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<) Independent variable

SSF JAMIA MILLIA ISLAMIA b """‘Mlnn variable

78 Fhe water readily available 1o plunuh i
Mon by roots is
A)  Gravitational water B)
! c!plllary witer
C)  Rain water D) Hy
SWRroscopic water
719,

Which of the following is commonly uged |

A)  CTAB

C) 1 YS0zyme penicillin

' 4

80.  Scientific method Of bee keeping is called:

A)  Apiculture B)  Sericulture

C)  Flyculture D)  Pisciculture

81.  Which of the following represents mostly widely used bio-plastic?
A) Polystyrene B) Polypropylene

C)  Thermoplastic starch D)  Polyethylene

19
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82.  Which one iy
the highest ca

A)  Yeast integrative vector
3) Yeast artificial chromosome
) Bacteriophage vector

D) Cosmid

83. . . . . a - ‘
Which of the following is not the requirement for PCR reaction?
A) DNA template B) Taq polymerase
) ADP-ribose polymerase D) MgCl2

84.  Polio virus possess
A) 88 positive-sense RNA genome

B) negative-strand with envelope

C) coiled RNA and capsomeres

ss DNA with capsid

jical systems Proton gradients are used for
synthesis B) flagellar rotation

rt of metabolites D) All of the above

(20]
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56.

88.

89

a0d non self-ceily may lead to
B Mto-immune disorders
D) Wlerance

A)  Hypersensitivity

C)  Immunodeficiency

DNA fingerprinting technique was Wby

A) James Watson

. Alec Jeffrey
D) MAnenbomugh

C) Francis Crick

W

Fluorescence in-situ hybridization is employed for stud g

A)  Secondary structure of proteins

P,

Negative Staining can be used ﬁrexamining

C)  Tertiary structure of RNA

A) Membrane structures B)  Protein agg :

C) Bacterial flagella D)  All the above

FEnzyme-linked immunosorbent assay, in test samples, allows for rapid screening
of

A) Reducing sugars

B)  Non-reducing sugars

C)  Both reducing and non-reducing sugars 1

D) Antigen

1
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Principle behind Column chromatography is
A -
) Amon—exchange B) Cation-exchange

C) Columu-exchangc D) Differential adsorption
92. LDL-reccptor IS associated with uptake of

A)  Cholesterol B) Mannose

C)  Long chain fatty acids D) Low Density leukotrienes
93.  Which of the following is NOT an example of auto immune disorder?

A)  Celiac disease B)  Sickle cell anemia

©) Multiple sclerosis D)  Rheumatoid arthritis

SSF JAMIA MILLIA ISLAMIA

94. Smooth endoplasmic reticulum is the site of

A)  protein synthesis B)  DNA synthesis

C) amino acid synthesis D)  Lipid synthesis
95. Embryo culture is used for

A)  Establishing suspension culture

B)  Circumventing post-zygotic barriers

C)  Rapid fertilization of somatic cells

D)  diploid-haploid switching
M75 SET-C 22]




